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5LVNDU\DQWL� *XOR�� 1,0�� ����������� %HQWXN� 3HQ\DMLDQ� $QVDPEHO�0DP|]L�
*|QGUD�6HEDJDL�3HQJLULQJ�7DULDQ�)DPDROD $IR'L�6DQJJDU�8OX�)DKDVDUD�60$�
1HJHUL� ��8OX�0RUR¶|�.DE�� 1LDV� %DUDW�� 3URJUDP� 6WXGL� 3HQGLGLNDQ�0XVLN��
-XUXVDQ�6HQGUDWDVLN��)DNXOWDV�%DKDVD�GDQ�6HQL��8QLYHUVLWDV�1HJHUL�0HGDQ��
6NULSVL�������

7XMXDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�PHQJHWDKXL�IXQJVL�DQVDPEHO�0DP|]L�*|QGUD�
VHEDJDL�SHQJLULQJ�WDULDQ�)DPDROD�$IR GL�VDQJJDU�8OX�)DKDVDUD�60$�1HJHUL���8OX�
0RUR¶|�.DE��1LDV�%DUDW��8QWXN�PHQJHWDKXL�DODW�PXVLN�\DQJ�DGD�GDODP�DQVDPEHO�
0DP|]L�*|QGUD� VHEDJDL�SHQJLULQJ� WDULDQ�)DPDROD�$IR GL� VDQJJDU�8OX�)DKDVDUD�
60$� 1HJHUL� �� 8OX� 0RUR¶|� .DE�� 1LDV� %DUDW� GDQ� XQWXN� PHQJHWDKXL� EHQWXN�
SHQ\DMLDQ� DQVDPEHO�0DP|]L� *|QGUD� VHEDJDL� SHQJLULQJ� WDULDQ� )DPDROD� $IR GL�
VDQJJDU�8OX� )DKDVDUD� 60$�1HJHUL� ��8OX�0RUR¶|�.DE��1LDV� %DUDW�� 7HRUL� \DQJ�
GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� WHRUL� IXQJVL� PXVLN�� DODW� PXVLN�� EHQWXN�
SHQ\DMLDQ�� DQVDPEHO�� 0DP|]L� *|QGUD�� WDULDQ� )DPDROD� $IR�� 0HWRGH� GDODP�
SHQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� SHQGHNDWDQ� SHQHOLWLDQ� NXDOLWDWLI� GHVNULSWLI��
/RNDVL�SHQHOLWLDQ�GL�60$�1HJHUL���8OX�0RUR¶|�.DE��1LDV�%DUDW�GDQ�GLODNVDQDNDQ�
GDUL� EXODQ� 0DUHW� ����� VDPSDL� EXODQ� 0HL� ������ 6DPSHO� GDODP� SHQHOLWLDQ� LQL�
EHUMXPODK� ��� RUDQJ��7HNQLN� SHQJXPSXODQ� GDWD� \DQJ�GLJXQDNDQ� \DLWX� REVHUYDVL��
ZDZDQFDUD� GDQ� GRNXPHQWDVL��7HNQLN� DQDOLVL� GDWD� \DQJ�GLJXQDNDQ� DGDODK� WHNQLN�
DQDOLVLV�GDWD�NXDOLWDWLI��+DVLO�GDUL�SHQHOLWLDQ�LQL�DGDODK�����)XQJVL�DQVDPEHO�0DP|]L�
*|QGUD� VHEDJDL� SHQJLULQJ� WDULDQ� )DPDROD� $IR GL� VDQJJDU� 8OX� )DKDVDUD� 60$�
1HJHUL� �� 8OX� 0RUR¶|� .DE�� 1LDV� %DUDW� \DLWX�� �D�� 6HEDJDL� 0HQJXQJNDSNDQ�
(PRVLRQDO�� �E�� 6HEDJDL� 3HQJKD\DWDQ� (VWHWLV�� �F�� 6HEDJDL� +LEXUDQ�� �G�� 6HEDJDL�
.RPXQLNDVL�� �H�� 6HEDJDL� 3HUODPEDQJDQ�� �I�� 6HEDJDL� 5HDNVL� -DVPDQL�� �J��
3HQJHVDKDQ� /HPEDJD� 6RVLDO� GDQ� 8SDFDUD� .HDJDPDDQ� GDQ� �K�� 6HEDJDL�
3HQJLQWHJUDVLDQ�0DV\DUDNDW�� ���� $ODW�PXVLN� \DQJ� DGD� GDODP� DQVDPEHO�0DP|]L�
*|QGUD� VHEDJDL� SHQJLULQJ� WDULDQ� )DPDROD� $IR GL� VDQJJDU� 8OX� )DKDVDUD� 60$�
1HJHUL���8OX�0RUR¶|�.DE��1LDV�%DUDW�\DLWX�DODW�PXVLN���D��*|QGUD���E��$UDPED��
�F�� )DULWLD GDQ� �G��'ROL�GROL�� ���� %HQWXN� SHQ\DMLDQ� DQVDPEHO�0DP|]L� *|QGUD�
VHEDJDL�SHQJLULQJ�WDULDQ�)DPDROD�$IR GL�VDQJJDU�8OX�)DKDVDUD�60$�1HJHUL���8OX�
0RUR¶|�.DE��1LDV�%DUDW�PHPLOLNL���XQVXU�SHQWLQJ�\DLWX�� ����6HQLPDQ� �PHOLSXWL��
3HPDLQ�DODW�PXVLN��SHQ\DQ\L�GDQ�SHQDUL�������$ODW�0XVLN������.RVWXP��8QWXN�ODNL�
ODNL� �%|E| +|J| GDQ %DUX� 2KROX��� 8QWXN� 3HUHPSXDQ� �7DQGUR� 0EX�� %DOD�
+|J|�6D¶L�VD¶L��)RQGUXUX�6LDOX��$\D�1LIDWDOL��7|OD�=DJD�GDQ�%ROD�1DIR�������/DJX�
\DQJ�GLVDMLNDQ �ODJX�)DPDROD�$IR�������:DNWX�GDQ�7HPSDW�3HUWXQMXNNDQ��PHOLSXWL��
VHPXD�XSDFDUD�$GDW�1LDV�GDQ�XSDFDUD�XPXP�NHFXDOL�8SDFDUD�.HPDWLDQ��GDQ�����
3HQRQWRQ�SHQGHQJDU�3HUWXQMXNNDQ �PHOLSXWL��WDPX \DQJ�GLVDPEXW�GDQ�PDV\DUDNDW�
\DQJ�DGD�GL�DFDUD�SHODNVDQDDQ�SHUWXQMXNNDQ�LQL��

.DWD�.XQFL��%HQWXN�3HQ\DMLDQ��$QVDPEHO��0DP|]L�*|QGUD��3HQJLULQJ�7DULDQ
)DPDROD�$IR�


